MiEFBe20 1 9FMERAE (5 ) IURENZE

EERS e | FXAR | LESs | REEER PAFRENE PARES 0] =2 iapdl PREFI 5 #iF
100089210005662| “kiEfE | £EL%E | 752.80 | JEE ML 030100 k2% N TR I A Hifil
100089210000033| kM | £ES% | 746.40 | dEE ML 030100 ¥ iRER o LRI 4= H il
100089210008918| T4l | &EL% | 745.00 | JEE ML 030100 %2 ZTIES LT A Hifil
100089210010116| #MEL | &S # | 741.40 | JEs@rmill 030100 ¥ IR =B Py 4= H il
100089210006971| XK | £E%% | 731.40 | JEE Rk 030100 k2% N TR I A Hifil
100089210004865 EER | £FE4% | 718.80 | ML 030100 ¥ VRN Py 4= H il
100089210004866| HIE | £ES% | 700.20 | JEE L 030100 %2 ZTIES LTI A Hifil
100089210003666| kIR | =E%% | 694.80 | dEEmilk 030100 ¥ Rk LR 4= H il
100089210006330| #K#H4E | &FES% | 690.40 | dEE mEhlk 030100 72 Rk T Ik Ex=kil
100089210000035| #KF | &FES% | 689.00 | k& Mgk 030100 ¥ Rk LR 4= H il
100089210005576| Z##e | &=[E%% | 686.00 | JEEmilk 030100 72 Rz T Ik Ex=kil
100089210010680| #HZ | £FES% | 685.20 | L& MEhk 030100 ¥ [IRER LR 4= H il
100089210008680| EiT | &=E%*% | 682.20 | dE@ il 030100 72 briZ: T Ik Ex=kill
100089210009986| xffE4l | £FES% | 682.00 | L FEhk 030100 ¥ Rk LRI 4= H il
100089210009708| M-#EiE | &Eg% | 681.20 | JEE Mk 030100 %2 LB Tkl 4 H
100089210004082| kil | E%% | 678.60 | dEE ik 030100 ¥ R R TR 2 H il
100089210004608|  Jj 75 E%G % | 669.40 | AEE HHHL 030100 %2 Rk AP Ext=kil
100089210005620| #hiiis | &F%% | 668.00 | A& Mgk 030100 ¥ R TR 2 H il
100089210008701| ik#&ENN | &=[E%* | 660.00 | JEEAmilk 030100 ¥ Rk AP Ext=kil
100089210003667| HfZ5 | B4 | 823.80 | kil 030300 ft2:2% We e TR 2 H il
100089210000043| K%M | &=FE4%* | 818.80 | k@il 030300 #t2x2# fFErE 22 AP Ext=kil
100089210009391| HHAHH | 2ES % | 800.40 | HEE ik 030300 ft2:2% WeH e TR 2 H il
100089210005092| #LHesR | &=FES# | 792.40 | dE@ il 030300 #t2x2# W2t AP Ext=kil
100089210005090| FRIEFE | £ES% | 783.40 | ek 030300 ft2:2% We e TR 2 H il
100089210009577| Z=#i% | &=FE4%* | 780.40 | dE@ il 030300 #f2x2# W21t AP Ex=kil
100089210000044| {={A%F | &E%% | 779.00 | dEE il 030300 ft2x2% kAt 22 TR A Hil
100089210008149| H¥YK | &FES* | 774.60 | AE@milk 030300 #f2x2# B A2 AP Ex=kil
100089210004888| Tkt | &£ES% | 754.40 | e Mgk 030300 #:2>2# Wt LT 4 H il
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EERS M | FRAN | AR | IARBEER! PAFRENE PARES 0] =2 iapdl PREFI 5 #iF
100089210001576|  #iiE 4Hg% | 858.80 | JEE Mk 120400 AL ITBUER 5 A FBUR LT A Hifil
100089210001572| #HitN | &E45% | 837.80 | Mk 120400 A JLEFHE AR EAER gl 4= H il
100089210001588|  #7:H: 4EHg% | 834.60 | AEE ML 120400 AL R EASLE LT A Hifil
100089210001585| EICEE | £ES% | 816.00 | JEE MIEL 120400 A L HE AT EAER o LRI 4= H il
100089210005637| sk | &ES%E | 808.40 | JEE ML 120400 AL ?&ﬁ“éﬂ?‘ LTI A Hifil
100089210010044| #F | £FES% | 805.00 | JEE FEL 120400 A L HE BE AT Py 4= H il
100089210010072|  =Hif AEHgH% | 802.20 | AEE ML 120400 AL HE AN LTI A Hifil
100089210005929| #tmy | £FES% | 798.00 | JEE FEh 120400 A FLEH HE T LR 4 H il
100089210009454| ik 3¢ 4 Eg% | 797.00 | AEE HEDY 120400 /A L7 HEH N IR EHI R T Ik Ex=kil
100089210001574| AP | &FESHE | 794.40 | dEE Mg 120400 A L HE AN BEE LR 4= H il
100089210004450| KA | =ES*% | 776.80 | AEE gl 120400 /A FLAE7 AN BIEE T Ik Ex=kil
100089210010697, 4&MH | 2E%% | 774.40 | EMEDL 120400 A JLEHE BE R SRE TR 4= H il
100089210009474| fE4% | &E%*% | 768.60 | dEEmilk 120400 A L7 IR E AL T Ik 4= Hl
100089210010696| #/HIR | &EH%% | 762.60 | EFghk 120400 A L HE AR E AR SRE TR 4= H il
100089210003900| M5 | &E%*% | 760.40 | dEEmilk 120400 /A L7 FE2 R P T Ik 4= Hl
100089210001569| FRtEMS | &F%% | 74040 | dEE Mgl 120400 A L HE ITBUER S AILBUR TR 2 H il
100089210001578|  Z:4H 4E% % | 731.20 | AEE R 120400 /A LA NN B AP Ext=kil
100089210008120| 1 H | =E%% | 729.40 | dEErmill 120400 A L HE T TR 2 H il
100089210010742 kt4117- 24 AE %% | 677.00 | Mk 120400 /A LA HE LY D RAE TR Ext=kil
100089210010678, fuAMm | ©E%% | 628.40 | ML 120400 A L HE BE AR SRE TR 2 H il
103359000922731| ZgflE | &E%5% | 782.20 | dEE HE 120400 A L7 HE 5N RFEEIT R TGt K Es=kil
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